—

FRAME ANCHOR REQUIREMENTS TABLE T
OF;ENING TYPE FRAME /CLIP/BRICKMOLD/HINGE | MINIMUM | MINIMUM ' "o |Tiojesser
(SUBSTRATE) TO OPENING FASTENER TYPE EMBED |EDGE DIST. 279" MAX. FRAME WIDTH o
BRICKMOLD (SIDES & HEAD) 5" °
2X_ WOOD FRAME OR BUCK NO. 6 X 1 1/2" SMS " @ m ’
(MIN. GR. 3 & G=0.55) (FLAT HE{AD) 1 3/8 e o .F— v T _—! oA i
5% WOOD FRAME CR BUCK % e e s S S SIS TYP. HEAD SHEAR SCREWS OR
o S ooz | @O s ws |y | A S/ el o et son 8
- \ I~ . %
: INSTALLATION CLIP I 17 q / //( : REQUIREMENTS TABLE” ON THIS 2
(MIN. GR. 3 & G=0.55) NO. 8 X 1 1/2" SMS 13/8 | 1/2" ‘ N y \0?%% 2
ST SRR SCREVS NS, > - — ~HINGE SCREW INTO SUBSTRATE (! 2
Iy I y N\ PER HINGE). SEE "FRAME ANCHOR
_ FRAME OR BUCK @ b : \ REQUIREMENTS TABLE” ON THIS g
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW | 1 1/4” 3/4" T Jﬂ Y, \ i SHEET FOR SCREW REQUIREMENTS. =
f
MIN. 2500 PS| CONCRETE (1Y 3/16” CONCRETE SCREW 11/4" 2" E ACTIVE INACTIVE | ~TYP. BRICKMOLD (3 SIDES OF DOOR) w o
HEAD /JAMB/HINGE SHEAR SCREWS = / S &
2X_ WOOD FRAME OR BUCK ) % L : 3
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW | 1 1/4 3/4 = TYP. BRICKMOLD FASTENERS PER Sr<g
= N _ /| ¥/ "FRAME ANCHOR REQUIREMENTS -
(1) CONCRETE SCREWS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS, HILT B \ AT / £ TABLE" ON THIS SHEET (WITHIN 4" 207
KWIK—CON |l OR POWERS RAWL TAPPER (HARDENED STEEL CR S.S.). o \ / OF CORNERS & 8"-10" MAX. 0.C.) | 8522
oy 1 i = ~—O o~
GENERAL_NOTES | \ / gl 2454
1. E}l_llgl(lsl‘:ll_ghngiJ%NéNGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TC TRANSFER WIND LOADS TO l \% / % Q %Og %
2. ALL ANCHORS SHALL BE IN ACCORDANCE WITH THESE DRAWI o / -_/ TYP. SiLl SHEAR SCREWS WHERE = 283
; .?EE;'EEDODSQWg%?EM o on WINGS & MAY NOT VARY UNLESS SPECIFICALLY MENTICNED i N %‘V SHOWN AT SILL. SEE "FRAME ANCHOR % EOE
: S HAVE BEEN DESIGNED IN ACCORDANCE WITH & MEET THE REQUIREMENTS CF THE - : 1 REQUIREMENTS TABLE” ON THIS SHEET I =
2004 FLORIDA BUILDING CODE {F.8.C.) FOR NON—HVHZ (NON- - : il
4. THESE DOOR SYSTEMS ARE NONCRIPACT RTED. & MUST B S:LGWHEgglﬁoﬂi%nguggglﬁggbzgﬁE(S:%DE. : : T — FOR SCREW REQUIREMENTS. =
00 S Yo e D 7 e T e ‘” 1
E N 5 N HEREIN ARE CERTIFIED AND/CR QUALITY ASSURED 0 >
ol S S S A el e I o E-SWNG Do 1
- - COMMISSION SPECIFICATIONS.
gﬂE&D?gsRthERgé\gggCTURER CONFIRMS THAT THE_ PRCDUCT IS ASSEMBLED IN ACCORDANCI;E: WITH STHEI\;? LF?ESEII;ISC(';I'IVE DOUBLE IN_-SW|NG DOOR F T - 2
7. ALL FRAME ANCHORS SECURING DOOR FRAME TO PRESSURE TREATED BUCK SCALE: 1/2"=1'-0" sl ¢ g
A e e NOTE 2 & %
. ?:i‘;LLDSEWi%Y%@%T\;\#E% mgﬁmﬁoswcco.( RAWINGS. SPECIFIED EMBEDMENT TOQ BASE MATERIAL ¥X DOOR SHOWN. 0¥ & XO ALSO APPLY. IF % E‘( z’ﬁz
- ONLY (NOT MANUFACTURING OR WEATHER PROOFI OF . Zo £ B
?ERF'I_'IFICATION OF THESE DQOR INSTALLATIONS SHALL BE CONSIDERED VOID IF ANY OF TT-I(-:: FOLE&IP?GOOEIQPLY: EgﬁEBtEL(g)(?ISERD %?_N%I_ISETSJA?AFB AsTEIEEQrHEAg%_EOR + %D... aa'.*.
If\iS!FALTlHA'E%%SD.OORS ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH WINDOW ANCHORS SHALL MIMIC THOSE SHC’)WN WiITH THE % u% %%E
2. IF THE DOORS ARE INSTALLED WITHOUT A PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT SINGLE DOOR OR FIXED PANEL ELEVATICN Wl mEFey
2. IF THE DOORS INSTALLATION IS NOT INSFECTED E ; : . Lid %9
o %NHSEPSEECHSQTELTA ﬁANO(r)qTSHiRR EPFE?AI;I;:ESDSIONA% E[S_lﬁENSED TOITEEEF%MT}:ESSECF%SQ?E LOGAL EUILDING BEPARTHENT L Eé Ezz
) ON TESTING & RATIONAL ANALYSIS, ' 8"
ARE REPGRTS NO. WINO43-05-09-85575, & w1N043-12-20—%5736.Rg\ssgvﬂggglzsrﬁﬁy%?rs’ﬂ?gsmg JEEP.CERHHCMON - ALLOWABLE /D%{SjiGg S}FD RESSURE ,uE'_J §§8 :QE
+’ - o - 105"@“
= -9'8 o <L
NOTE: PRESSURES APPLY TO INSTALLATION z |z E%¢
ONLY & NOT DOOR ASSEMBLY CONDITICNS = 2= £
ui
o
Tyl
5
£ 43
S S\N\ 8¢
= & p
RN
= [Vl
= 2 P
DRAWING NO. [REV.
1557
SHEET ND
1 oF 3 __J




—

DRAWN BY;

CHECKED &Y.

__ 36 3/16" MAX. __|

FRAME WIDTH
SIMILIAR
3 |
. _/Jé B” MAX.
TYP. BRICKMOLD 117 4 /
FASTENERS PER ol
"FRAME ANCHOR
REQUIREMENTS [ C) | o ANk o
= TABLE" ON \3/ /s & I
S SHEET 1 (WITHIN / . f
Y 4 OF CORNERS - y, 24"
W & 8"—10" MAX. VAX. 0.C
= 0¢) ACTIVE i - LL.
B [
>
% |
HINGE SCREW
% INTO SUBSTRATE ] AN TYP. JAMB SHEAR SCREWS
= {1 PER HINGE). \ . '/OR INSTALLATION CLIPS
vy SEE "FRAME \ WHERE SHOWN AT LOCK
@ ANCHOR SIDE ONLY. SEE "FRAME
REQUIREMENTS SMILR ANCHOR REQUIREMENTS
TABLE” ON /BN y TABLE” ON SHEET 1 FOR
SHEET 1 FOR _t 3 /{ | i SCREW REQUIREMENTS.
SCREW N
REQUIREMENTS. — ﬁ N

q

f

INTERIOR ELEVATION
SINGLE IN—~SWING DOOR

SCALE: 1/2"=1"-0"

48 3/16" MAX.
FRAME WIDTH

SIMILIAR

95 3/8" MAX. FRAME HEIGHT

11
24"
MAX. O.C. |

_l_”"f

|

6" MAX.

OPPCSITE

H— ~TYP. BRICKMOLD
FASTENERS PER “FRAME
i ANCHOR REQUIREMENTS
TABLE" ON SHEET 1
(WITHIN 4" OF CORNERS

(D
\3/

SIMILIAR

D 7

—= & B8"-10" MAX. 0.C.)

TYP. JAMB SHEAR SCREWS
'/OR INSTALLATION CLIPS

WHERE SHOWN AT SIDES.
SEE "FRAME ANCHOR
REQUIREMENTS TABLE™ ON
SHEET 1 FOR SCREW
REQUIREMENTS.

f

q

INTERIOR ELEVATION

SINGLE FIXED PANEL DOOR

SCALE: 1/2"=1'=0"

W.R.M.

W.W.S.

PLOT:
1=24

DATE:
10/05/07

DATE

REVISION DESCRIPTION

NO,

MANUFACTURER

19TH STREET
800-218-6186

900 S,
WEST DES MOINES, 1A 50265

WINDSCR WINDOWS & DOORS

LEGEND HBR NON—IMPACT IN—SWING DOOR

WING TITLE
CONSULTANTS -

& CONSULTING, P.A.
BBIS N. MIUTARY TRAIL; SUITE C~204

W. W, SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561~775-4902 FAX: 561-~775—4903

2007

CERTIFICATION

0CT 1§

WAR W. SCHAEFER, P.E.
P.E. NO. 44135

DRAWING NO. "[REV.

1357

2

SHEET NO.

of 3

|




FRAME ANCHOR PER ELEVATIONS & - DRAWN 37, |CHECKED Y
FRAME ANCHOR REQUI BRICKMOLD ANCHOR PER ELEVATIONS BRICKMOLD ANCHOR PER ELEVATIONS KR, HS.
REQUIREMENTS & FRAME ANCHOR REQUIREMENTS o
( TABLE ON SHEET 1 TOE BEAD TABLE ON SHEET 1
REQUIRED WITH DOUBLE DOCRS) CONTINUOUS SILICONE SEALANT 8Y w
OTHERS . &
SUBSTRATE BY: SEALANT BY OTHERS BEHIND 16GA. X 2 1/2" GALV.
OTHERS PER BRICKMOLD CONTINUOUS BRAD NAIL AT 8" 0.C.
 FRAME ANCHOR TOE BEAD OF EXTERIOR SILICONE SEALANT | 5
REGQUIREMENTS SEALANT BY : BY OTHERS '
TABLE ON OTHERS - BEHIND g
SHEET 1 _ = % BRICKMOLD DOOR FRAME £
i BRICKMOLD & 2
3/8" MAX ' —a " HINGE SCREW b 8
oM AT = PER ELEVATIONS IE
EACH ] ' o & FRAME ANCHCR EXTERIO &
ANCHOR < N = REQUIREMENTS [EXTERIOR] 2
i 16 GA. X 2 1/2" TABLE ON SHEET S
GALY. BRAD NAIL DOOR SILL 1 =
AT 8" 0L SEALANT @
- DOOR FRAME 1/4" MAX. AS REQ'D —~] 3 S
& SHIM OR - SUBSTRATE BY—_ i
L GROUT AS REG'D OTHERS PER & <@
Ls FRAME ANCHOR nE -5
= f REQUIREMENTS z 0
N TABLE ON SHEET 1 S zz®
=
n — zz
EXTERIOR 3/8" MAX. SHIM FRAME WIDTH x| = =" 4
/ SILL ANCHOR PER AT EACH ANCHOR S| x 5wy
_ ELEVATIONS & FRAME ‘ _ SECTION /o 8-
LJJ ANCHOR REQUIREMENTS PLACE SILL IN A BED OF SEALANT SCALE. 1/2 FULL 3/ ole »
TABLE ON SHEET 1 (ONLY _ =l = =
i REQUIRED WITH DOUBLE SECTION /7 e
: 3
SECTION A DOCRS) SCALE: 1/2 FULL \3./ E %
SCALE: 1/2 FULL \3/ ' ‘ TOE BEAD OF Qs
BRICKMOLD ANCHOR PER  TOE BEAD OF SEALANT BY OTHERS p SE
ELEVATIONS & FRAME SEALANT BY OTHERS CONTINUOUS  SILICONE I a
ANCHOR REQUIREMENTS SEALANT BY OTHERS zl e &
CONTINUOUS SILICONE NO. 8 X 5/8" SCREWS ol 2 8.l
TOF BEAD OF TABLE ON SHEET 1 SEALANT BY OTHERS \ “ BEHIND BRICKMOLD 7(2 PER CLIP) = % _ L',§‘§
SEALANT BY OTHERS 16 GA. X 2 1/2" BEHIND BRICKMOLD I NO. 8 X 5/8" SCREWS INSTALLATION CLIP — ' Gl =5 e”z
CONTINUOUS SILICONE /' GALV. BRAD NAL xm/ (2 PER CLIP), ANCHORS PER FRAME DOOR FRAME o
SEALANT BY OTHERS [ AT 8" O.C. INSTALLATION CLIP — ANCHOR 2| oz &,
BEHIND BRICKMOLD | V ANCHORS PER FRAME / DOGR FRAME REQUIREMENTS TABLE \ EXTERIOR o e
ON SHEET 1 (2 PER Wl WmEe ]
REQUIREMENTS TABLE EXTERIOR > -l <2 5ze
FRAME ANCHOR PER—\ DOCR FRAME ON SHEET 1 (2 PER ATER CUP) - &50 zﬁT
ELEVATIONS & FRAME ooooee] CLP) SUBSTRATE BY A A EE
ANCHOR ER ISP
REQUIREMENTS TABLE EXTERIOR SUBSTRATE BY ——| = OTHERS PER FRAME T~ <, I
ON SHEET 1 (NQT OTHERS FER FRAME Qggﬂf;'émm TABLE ] 5 1°F -
REQUIRED WITH { ANCHOR = ON SHEET 1 — u
DOUBLE DOORS) — REQUIREMENTS TABLE — o
{__ ON SHEET 1 o ] , ) -
| | MIN. 1 1/2" X 6 1/2° X 18 GA. it
§$E§;§ALEERBYH;;ME\ $ \ . - il GALVANIZED METAL INSTALLATION £
ANCHOR S\ H | ‘ '\GAK\IL'V;M%S M>I<:T§L 7|@TA’L<L;T?OSA' 3/8" MAX. SHlM CLIp (WN. 33 ksi YIELD STRESS) iy
: - WHERE SHOWN IN ELEVATIONS. 24
REQUIREMENTS TABLE 3/8" MAX. SHIM CLIP (MIN. 33 ksi YIELD STRESS) NEXT TO EACH CLIP - Nz
ON SHEET 1 NEXT TO EACH CLIP WHERE SHOWN IN ELEVATIONS. B
" ' ‘ OPTIONAL INSTALLATION CLIP MOUNT DETAIL 2 S ES
3/8" MAX. SHIM : FRAME WIOTH OPTIONAL INSTALLATION CLIP MOUNT DETAIL 1 (SIDE_SECTION SHOWN; HEAD IS INSTALLED THE SAME) L
AT EACH ANCHOR SECTION * (SIDE SECTION SHOWN; HEAD IS INSTALLED THE SAME) (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) 1557 |
I (FOR DETAIL NOT SHOWN, SEE OTHER SECTICNS) NOTE: CLIP IS NCT APPLICABLE AT SILL =
SCALE: 1/2 FULL \3./ NOTE: CUP IS NOT APELICABLE AT SILL 3 o 3




CBUCK Engineering

. . . CBUCK, Inc. Florida Certificute of Authorization # 8064
Specialty Structural Engineering

Validation
of
Installation Instructions
for
Windsor Windows & Doors

Windsor Series
“Legend HBR In-Swing Door”

Florida Product Approval
# FL 10077.1

In compliance with
Florida Building Code 2004

Prepared for:
Windsor Windows & Doors
900 S. 19™ Street
West Des Moines, JIA 50265

Prepared by:
James L. Buckner, P.E.
Florida Professional Engineer # 31242
Florida Validation ANE ID: 1916

Report No. 07-303-1-VR
Date: 12/20/07

Contents: > /
Validation Report Pages 1 -2 gines L. Buckner, P.E.
Florida P.E. # 31242
2 Zo/ 07
CBUCK, Inc.

1334 S. Killian Drive, Suite 4, West Palm Beach, Florida 33403
Phone: (561)491-9927 Fax: (561)491-9928 Website: www.cbuckinc.net



FL #: FL 10077.1

Date: 12/20/07
Report No.: 07-303-1-VR
Page 20f2

CBUCK Engineering

Manufacturer:

Product Name:

Reviewed

Installation Instructions:

Installation Instructions
Engineer:

Technical Validation
Statement:

Validation Compliance:

Document Filing:

Reference Documents:

CBUCK, Inc. Florida Certificate of Authorization # 8064

Speciaity Structural Engineering

Windsor Windows & Doors
“Legend HBR In-Swing Door”

Drawings by Warren W. Schaefer, P.E. (Florida P.E. #44135)

1. Drawing No. 1557, Sheets 1-3 , Revised 11/15/07, Signed &
Sealed 10/19/07 :

Warren W. Schaefer, P.E. (Florida P.E. #44135)

A review of the above referenced installation mstructions and supporting
data including test reports, anchor calculations, alternate supporting
subsirates and referenced technical documents demonstrate results
equivalent or superior with the tested samples. The additional anchors
have been verified to comply with acceptable standards of engineering
principles and demonstrate compliance with Florida Building Code, 2004
with Supplements.

The installation mstructions comply with the technmical validation
requirements of Rule 9B-72.080(2)(c).

A copy of this validation report, above referenced installation drawings
and all supporting data will be filed with CBUCK Engineering as long as
this validation is effective.

1. AAMA Test Report (FBC Organization #CER 1D:1498)
By Stork Twin City Testing Corp.
Report #: WIN043-12-20-72766.rev, Report Date: 7/25/07



